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B ~
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AABC @ AADE(SAS 52)
2:1=x:6
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DE//BC ©|22 AADE @ aABC (AA H-2) oIt}
®4:2=6:3°] A¥sl22 BC//DE °]t}.
@3:9=2:6°] 4Hsl22 BC//DE °]t}.
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/A 7} 47191 AABC o4 RHLBC & 1, AAHC 9] W0l Fotm?
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AH2 =BH-CH
16 =2x CH , CH = 8(cm)

- (BAHC 9] Ho])= % % 8 x 4 = 16(cm?)
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® 5cm @ 6cm ® 8cm @ 9cm ®)10cm

~&B

(A7} FEo|a,
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AABE @ ACBD (AA &)
AB:CB=BE:BD
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28 :40 =BE : 20
BE = 14(cm)
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a=E? (A 270)
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B H C
@ AB:AC - BH:CH (@) sABC oaHAC
® /C = /BHA @ /B =/ACH

@G)AH’ = BExCH

AABC ©OaHAC o4l AB: AC = BH: AH
(C =/BAH , /B = /CAH
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DA // CE o]2& /DAC = ¢ACE (97}, /BAD = /AEC
(5917}, /BAD = /DAC ©]|2& /ACE = /AEC

ut2tA] AACE £ o 58AZgol B2 AE = AC o[t}

kAl AE 9] ZolE 9 o]t




13. o2 239 4244 ABC oA 424 ABD 9] Hol7t 25cm? & o,
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® 8cm? @ 9cm? ® 10cm?
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S8 ‘
BD:DC=10:6=5:3

AABD : AADC =5:3

25: AADC=5:3

. AADC = 15cm?
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AD:DC =GH: HE = EH : HF
AD:DC=100:75=4:3
EH = BF = ¢ 2} 5}

= 3 == 4
HF—ZG,GH—ga

GH + HF = DC = 75(cm) °|E&

4 3 25
§a+za—75,ﬁa—75,a—36(cm)

. BF = 36cm
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ABDP ¢} AADC 9|4 /PBD = /CAD
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th2ol4 AE : EB = AP : PC = DF : FC &

g uj, /APF + /EPC ©] 27]%9

® 260° @ 261° @262°
@ 263° ® 264°

~&B

EP // BC ©|2& /APE = /ACB =33°
(EPC = 180° - 33° = 147°
AD // PF °]B& /FPC = /DAC = 55°
(APF = 180°-65° = 115°
- LEPC 4 /APF = 147° 4+ 115° = 262°




20. o2 134 AD & /BAC 2] o]5H A0l AABC 2] HolE a
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AABD &FAADC A o] £, @Ho]
AADC = 3: 2 o]t}

3 3
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@ AABC ¢ AAED
© AAFD ¢ ACFB
@ AABC ¢ AADC

© AAEF o ADFC
® AABF o AADE

® AABE ¢ AACD
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(AA &) @

(ABE = /ACD, /BAE = /CAD ©|E2 & AABE @ aAACD

AABC £} AAED oA

/BAC = /EAD , AB: AE = AC: AD

(- AABE @ AACD ) ©]E2 SAS F-3°|t}.
AABC ¢ AAED (SAS &) -9




24. ©& 13| DE//BC , BE//FC, AD : DB = 3:2 < of, AD -
DB BF o #2?

A
D E
B
C
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D 3:2:5 @ 3:2:6 ® 6:4:9
@ 9:6:8 ®)9:6:10

. 3 __ 9
AD: DB=3 : ZO]E_E._ADZEAB,DBZgAB
DF//BC o|n2 AF: BC—AD: DB=3 : 2
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